N of associated (recoToSim) looper tracks vs normalized X

4 6 8 10 12 14 16 18 20

2

track x?

berset

tracks vs normalized x? |

recoToSim)

[{

[N o associated

ized X2 |

rmal

0

ck vs n

O.D

[S]

[N of reco tra

I o
N <
00 X
— O
g
© 5
<
—
N
—
o
0
©
<
o
o HEH
© syoeln axe)
I o
N <
00 X
— O
8
[(olp=]
—
<
—
N
—
o
o
©
<
o
o 3 ) oY v
3 3 3 S 3 j
syoeidny W syoesn any oney
5

02
NS
00 x Il
EER g X
8
Rl ===
i
<
—
o
—
o
o
-
© .
¢
2
~ ]
g
ceeebaage ~ &
s & 3
L [ °
o o 1 -
2 3 3 S 3 S 3 3
syoelf Z| syoen ey




	Contents
	Page 1


